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TRIGNOMETRIC FUNCTION

If
— i dy _
y = Sinx - = cosx
B dy .
y = cosx. — = —sinx
dy
=t —_— = 2
y anx - = sec’x
= cotx d_y = — cosec® x
Y dx
dy
y = SecC — = secx tan x
dx
_ dy _ ¢
Y = Cosecx —- = —cosec x cot X

Use first principle —to derive above formulas.

QUESTION:-

1. f(X) = 2 Cosx-3 sinx
2. SinxCosx;

3. Sl;lx

4. x* cos x ;

5. x> sin X — 5¢0s X

6. Cosx/xsinx;

7. secx-V2tanx
8. (xX*+1)secx;

9. secxtanx

10. Secx/1+tanx;
11. x~* cscx + 2cot x
12. Cscx cotx ;

13. cotx/ 1+ cscx
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41.
42.
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Cscx/tanx;
sin’x + cos’x
1/cotx ;

sinxcotx
SecXx

1 + tanx

(x> + 1) cotx /3-cosx cscx

XSinx — 3cosx ;
x2COSX + 4sinx
Sin®x cosx ;
cosx / 1-sinx
1/1 + cosx ;
cosx/ 2-sinx
1/sinx cosx ;
sin(2x) ;
cos(2x)

tan (x> +1);
tan? (x* + 1)
Vx4 csex;
1+ X’ cotx
Cos’T x ;

sinv1 + cosx

V1 + cosx;
x> sec Vx> +9
sin® (x%);
cos”V3x
tan® (4x) ;

3 cot™x ;

4 cos’x

Sin (1/x%) ;
tan* (%) ;
2sec’ (x')
Cos® (x/x+ 1) ;



46. /cos(5x)
47.\/3x — sin * (4x) ;
48. [x+csc (X +3]°
49.[ X' —scc (4x*-21";
50. X° sin (5x)
51.v/x tan® (Vx );

52. x° sec (1/x)

53. sinxsec (3x + 1);
54. cos (cosx)

55. Sin (tan (3x) );

56. cos’ (sin (2x) )

57. (1+csc (x°) ) / (1-cot (x*) ).
58.[ x sin 2x + tan* (x') °
59. Sin (3x°) ;

60. xIn(5x) — sin’x

61. xtan (1/x) ;

62. x cos 3 x

63. Sin (1+x°);

64. sec® (m /2 —x )
65.(x—1/x)*; cos xy =y
66. Sin (x° y°) = X ;

67. x> = coty / (1 + cscy)
68. tan® (xy’ +vy) =x,
69. xy*/l+sccy =1 +vy*
701+ sin’ (xy’) =y
71. /3 + tanxy— =0
72.y+siny=x;

73.x cosy =y
74.y = sin’x ;
75. sin (2x)
76. 3 sinx;
77. sin 9 x;
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cos x/2 ;

cosx’

Sec (0.6x);

coscc (x/6);

sin (x°)°

Sin 2x + cos 2x + cos 2X ;
sin 3x — cos 3x
Secx + tanx ;

sin 4x + cos 5x
Cos¥q+sin’q;
sin(2x +1/2)

89.Cos (3x —x);
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Cos (3 T —x);
sin (x%)?

cos® (2x) ;

sec (x%) ;

tan V1 —x
asinx + b cosx ;
a (1-cosx)
2tan(x /2) ;
cos (2x+ 1w /2) ;
tan’x

. X2+ ¥sin 1/2x;
cos a/x;

X sinx

Cos a/x;

x> sin x ;
X/sinx

X tanx;
x/tanx ;
tanx/x

Sin (2x) + sin (2x)?;
cos® (x%)
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thanx;
cot (5x+1);
cot® 3x

\Vcosx ;

Sin2 X cos2 X ;

Vx/sinx
.2 2
Sin“x + cos’x ;
sin’x
1

1+cosx
(1-cosx )/(1 + cosx)

X% cosx ;
x2/CcOs2X ;
tanx-1/secx
Xvsinx ;
sin’x / 1 + sinx
1/1 —tanx;
sec’X cosecx
e” sinx ;

eSII"IX ;

COsX
e

etanx

In (sinx) ;

In (cosx) ;

In (tan x/2)

e ™ sin (kx);

In (v/sinx)

e™ cos (bx +¢) ;
e cos (3x)
/2%
sin(mx+m/2)

In [ cosx / V4 — 3x°]
In [ Vx 3vx + 1 /sinx scex) ]



143. Y = (sinx cosx tan’x) / Vx
144. e*tanx;

145. " (x*+1). Sinx
146. In (cos e*);
147. e* cos bx

148. 1 sinx™™;

149. °™;

150. 7™

151. (Inx)™™

152. e™™ sec’x;
153. "™ cosx

154. Sin (e®%);

155. cos (™) ;

156. cos (e™™)

157. e*sin (1+e¥);
158. e™scc? (2-e™)
159. 7™ cosx;
160. m cosx. sinxType equation here.
161. XInx -4 m e* cos x
162. '™

163. Sin 7x—cos 5x ;
164. tan (x°);

165. tan’ (x°)

166. Cot (1—2x°);
167. X’ sinx;

168. cos */x*

169. 3cosq—cos3q;
170. 3sing—sin3q
171. 3tang - sec3q
172. 3secq + tan3q
173. X sec’(4x-5);

174. cosx /\x



175. 1/3.Sin3x+5;
176. secy + 4x

177. tan 2x + sec’x + x> — x + 3
178. 1/3scc3+5;

179. -1/2 cot(2x) +5
180. % tan (x°) +9;
181. sec’x/1 + tan x
182. Cos” x sinx ;

183. xsec’ (x)%;

184. csc’ (2x)

185. Sec3xtan3x;

186. sin’x cos’ X

187. Sin (x/5) ;

188. In /(secx + tanx)
189. In (cos (2x) ;

190. cos (In (2x)

191. In (In (tanx) ) ;
192. Insin(5x)

193. 1/3In(1-cos3x) ;
194. In(Inx?)

195. 3sec?(3x) c"3*:
196. -e™ (cosx + sinx)
197. -2x (In3)*>**;

198. e/V1—e2x

199. 2tan x— x/2x —sinx ;
200. Insec (2x)/In secx
201. In cotx/e®™?;

202. xcscx;

203. cscmxlnx

204. (e*-1) cosx ;

205. sec’ x—tan’ x
206. ((sinx —cosx)™™;
207. (cosx )Y*;
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1-e*/1-x

-t 2
E™secx ;

Xtan % x; escc2x

1/3 scc3x ;

- % cot 2x;

% tan (x°)

tan x—x;

-1/5 cos’ x

In sin 5x ;

sin 3x/1-cos3x
In( cscx — cotx)
Sin 6x / sin 8x;
tan 7x / sin 3x
sin‘Q/Q;
h/tan h;
sin”/-cosx
X*/(1-cosx) ;
x/(cos (1/2m —x) )
a/cosq ;

t* / (1-cos’t) ;
1-cos5x/cos7x-1
X% = 3sinx/x ;

2X + sinx/x



